240129-notes.notebook January 29, 2024

I think I mushed on through Section 1.7, last week, and all that remains,
there, is

Proving polynomial limits of higher degree.

This is the general polynomial case. Since we have cubic and quartic
formulas, and the limiting value always allows us to split off a real
factor, we can handle proofs up to degreen =5, by analyzing the
polynomial of degreen-1=4,3,2,1, 0r 0.

Anything above a linear polynomial is going to be bonus on the written

portion of your homework and tests.

I will post Writing Project #1, today or tomorrow, in Assignments on _'Q...._ @\0'5- ) = |
D2L. Writing Project #0 should be up there, now. -2 Counts /Q lle

You will see at least one higher-degree proof for bonus. I'll be pretty A o 7{. s
stringent, but the forms to follow, the quantifiers and the language used, 2. (_xil—“s} -
are all very standard, and go the same way, every time. <=2
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But people may still be wading through earlier sections and be primed for
timely answers, live. We can go one of two or three or five directions.

#19 in Section 1.7 is a good one. I hate the way they wrote it, and I don't
understand their answer - or I didn't - because they used a different font
in the question than in the answer. Crappy epsilon.
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